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Bk 28 4 2 Op 29 AF

x 5 £ it B | A0 i E | JNE=

7 # 65, 405 155, 134 66, 237 154, 772
=138 11,612 27,017 11, 848 217, 315
i ] 2,413 5, 427 2,432 5, 375
S it tigy 1,833 4, 245 1,838 4,217
h iz 5 1,780 3,914 1,780 3, 854
15 7K 2,974 6,771 3, 028 6, 809
£ = 647 1,471 660 1,484
hEy S R R ET 367 826 368 806
A6 4w oHr HT 568 1, 294 570 1,293
HAKAEBE—TH 166 459 223 631
HAAREK - TH 89 256 113 331
Bo®—TH 30 59 67 140
o B - TH - - - -
MoB=TH 237 695 257 769
S>OLE—TH 85 249 96 272
S>OLE T TH 423 1, 351 416 1,334
HOE o X 8,216 19, 004 8, 300 18, 853
H /N 954 2,371 955 2,305
4 iz 59 78 59 82
5 75 658 1, 437 652 1,412
i N 2,097 5, 027 2,104 4,991
=8 I 1, 630 3,714 1,646 3,726
k4 N 175 374 178 374
i R 1,759 3, 962 1, 826 3,961
K % He 884 2,041 880 2,002
B o X 14, 495 33, 517 14, 808 33, 7181
1 I 8,418 18, 006 8, 508 17,929
& S 257 706 260 701
A =) 737 1, 646 755 1, 647
1t F 1, 555 4, 008 1,618 4,107
I Ui 477 1, 149 498 1,172
g B B ET 808 1,831 834 1, 867
& #HE o & 218 550 220 550
it H — T H 330 947 331 933
BT x—TH 343 1,035 393 1,168
P x T H 380 1, 148 373 1,135
KT x=TH 158 510 173 561
AP EMWTH 105 288 112 296
A %S 260 616 260 602
g Er ET 449 1,077 473 1,113
dt & #h X 10, 044 25, 142 10, 209 25, 157
T 4 661 1, 496 664 1,478
En N 57 151 57 149
7S H 606 1, 480 612 1,463
= ES 550 1, 359 561 1,336
* =) 397 957 403 939
JE& *t - - - -
HOK #H OH 66 190 66 185
+ it = 2,314 5,413 2,369 5, 441
= %4 — 1T H 1,372 3, 209 1, 383 3, 196
=4 T H 1, 102 2,794 1,125 2,785
HOOK H WY 632 1, 425 644 1,437
ES H iy 851 2,031 864 2,046
a = - - - -
®R = T H - - 1 1
YR — T H 456 1, 458 471 1, 480
Y EET T H 427 1, 377 435 1, 392
R = T H 553 1, 802 554 1, 829
&R R
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x 5 4 it A K A0 it i g | A0

JI| S #h X 5, 752 13, 554 b, 768 13, 355
e iz 667 1,823 667 1,787
rh H 1,012 2,327 1,019 2,302
= I 2,298 5, 182 2,318 5, 145
SO A G 297 730 292 701
5 7~ - - - -
/N (L 141 395 137 372
ik T 17 45 17 44
H o W Hr 674 1,517 673 1,483
. 753 =) 628 1, 482 628 1,471
® — T H 18 53 17 50
® - T H - - - -
2 B ih X 3,987 9, 621 3, 985 9,480
T = 4 B 441 920 443 909
= % o 1,196 2,943 1,213 2,916
T &l 562 1,431 554 1, 379
WA bR FE - - _ -
K 5y 3 882 2,236 885 2,220
= 7 B 192 354 178 329
- D% % 208 705 299 707
W= 4 B 416 1,032 413 1, 020
BETE AL BB #h X 1, 059 2,749 1,070 2,724
B |\ & W 755 1,930 761 1, 906
B 15 7L & HT 103 297 106 301
5] & iy 67 164 67 160
B 15 oo HT 103 273 104 270
B |/ N HT 22 58 23 60
B = 8 % 8 24 8 24
B 15 & W7 & 4+ - - - -
B 15 HT ¥/ 4b 1 3 1 3
A % - - - -
B TE PRt X 4,729 11, 335 4,748 11,163
N H 144 307 139 294
HOE OB I 351 895 349 873
" %S 983 2, 402 399 952
Bl g H: 424 982 206 673
=l il N 1,082 2,730 964 2,403
il Va 1E 684 1, 504 679 1,470
A F 326 812 328 794
o H I 250 618 244 599
H =l 196 455 198 441
" =] ife 169 351 166 345
[iic} = it 110 261 109 249
A 15 1T 5 BT R M 5 12 5 12
B 15 oo WT Jf¢ H 1 2 1 2
X < ES 4 4 4 4
N - - - - -
hx —TAH - - 281 610
2% % ZTH - - 237 orl
mHE T H - - 210 488
mAZEMTH - - 139 377
BB Ea &Rt X 5, 511 13,195 5, 501 12, 944
A M o~ W# 4,818 11,532 4, 810 11, 316
[if] M 676 1,619 673 1,581
L S 15 40 16 43
(== I T & - - - -
A o W W 2 4 2 4




